10 8 6kPa 45 20 -30

9 20 50
[
2
2.1 ***
211
X, X, x10%p,
211
1 -30 2 20 3 45
16 28 3 10 30 | 20 | 45
6 3.59 | 3.39 | 3.29
8 355 3.28 | 3.15
10 3441320318
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2111
21.1.1
2111 211.2
X2
X, -30 | 20| 45 Ng | X | %, | Y [N | x| %, | Y,
6 VoV 1 |30| 8 |355| 4 | 20| 8 |328
8 VoV 2 | 30| 10 |344| 5 | 45| 6 |329
10 v v 3 20| 6 [339] 6 | 45| 10 | 318
2.1.1.2
21.1.1
2.1.1.2
2.1.1.3 2114
F-
c | 26600800 | 2227408 | v 1 | 352100 | 002900 | 4 | 3.32180 | -0.04180
X, | 00039840 | 73331 v 2 | 345620 | -001620 | 5 | 3.28700 | 0.00300
X, | -00324000 | 13303 v 3 | 338660 | 0.00340 | 6 | 3.15740 | 0.02260
R=0.9804 S=0.0336 F =37.0645> F, (0.05) =9.55

2115
y = 3.6606800 — 0.0039840x, — 0.0324000x,
N, | X, | X, Y,
2115
2114 2115 1 |-30| 6 | 3.58580 | 0.0042
0.0248 2 | 20 | 10 | 3.25700 | 0.057
Y X, X, 3 | 45| 8 |322220| 0.072
2111 2112 2113
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3552 w1l

3459

3366

3273

3.180

: : : T
-30.00811 5@ 500 2625045 000

335352 jr1

3.459

3366 -\

3.27F

3.180

* * * i xz
6.000 7.000 §.000 9.000 10000

2111 2.1.1.2
3.55 M
3. 48 1
HUEE
3.40 R
2,33 1 /
3.85 «\\
3.18 S
3 4 5 &
2.1.1.3
2.1.2
2121
2121
2.1.2.1 2.1.2.2
. Xl 301201 45 Ny | X, | X, | Yo | No | X, | X, | Y,
2
6 NN -30 8 | 355 4 20 10 | 3.20
8 v Ny -30| 10 344 | 5 45 3.29
10 v vV 20 6 339 6 45 3.15
2.1.2.2
2121 2.1.2.2
2.1.2.3 2.1.24
F-
C 3.8155059 | 9019.151 Y 1 3.54765 | 0.00235 4 3.18953 | 0.01047
X, |-0.0050635 | 412.313 Y 2 | 344271|-0.00271| 5 | 3.27282 | 0.01718
X2 -0.0524706 | 121.438 Y 3.39941 | -0.00941 6 3.16788 | -0.01788
R=0.9964 S=0.0166 F =206.8832> F,(0.05) =9.55
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y = 3.8155059 — 0.0050635x, — 0.0524706Xx,
No xl XZ Yu
2125 1[-30| 6 |365259
2-1-2-4 2-1-2-5 2 20 8 3.29447
0.0241 3 | 45| 10 | 3.06294
Y X, X,
2121 2122 2123
3550 a1 3550 ¥ 1
3450 3450
3350 7 3.350 1
3250 3250
3150 0.00011.25 500 26.25045.050" 3150 0 7.000 G.000 9.000 100402
2121 2122
3.55 ﬁ*ﬂ'ﬁrﬂ
347
: R
9. 29 =
3,31
£
3,23 o
315 )
o 1 2 3 4 5 &
2123
2.2 i
221
221 2.2.2
30| 20 | 45 No | Xp| Xo | Yo | No| Xp| X5 | Yo
3 355|328 3.15 2 |-30| 10 | 351 45 3.55
2.1
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221

2111
2.2.2
b1 2212
F- 1 | 355700 | -0.00700
C 3.8205200 | 6028.906 Y 2 | 350480 | 0.00520
X, 0.0018240 1.732 N 3 | 357440 | 0.01560
X, |-0.0387000| 46708 | Y 4 | 348020 | -0.01020
5 | 355700 | -0.00700
X, X, | -0.0004200 7.289 N 6 |3.32660 | 0.00340
R=0.9944 S=0.0156 F =58.5620 > F, (0.05) =19.1600

y = 3.8205200 + 0.0018240x, — 0.0387000x,

— 0.0004200%, X,
2213
2212 2213
0.0606
Y X, X,
3590 Fv 1

3525 1

3460 17

3395 7

2 230 ' ' ' oy
-30.00011 250 500 26 25045 000

2211
2213
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2213
N, | X, | X, Y,
-30 6 | 3.60920 | 0.0192
20 | 10 | 3.38600 | 0.1860
45 8 | 3.44180 | 0.2918
2211 2212

3.590

3525

3. 460

3.395

3330

X1

* * * ' Xz
6.000 7.000 §.000 9.000 10000

2212




InfhiE
358 \
3.54
d.439
3.43 J
SEEE
3.38
3.33 |
o] 1 £ 3 5 ]
2213
222
2121
2221
2221
No | X, | X, | Yo | N[ X, | X, | Y,
1 |-30| 8 |355| 4 [20| 10 |3.42
2 |-30| 10 [351| 5 | 45| 6 |355
3 /20| 6 (359| 6 45| 8 |343
2222 9993
F-
X, |-0.1426790 | 19144.244 Y > | 350990 | 0.00010
X l2 -0.000072 1244.449 Y 3 3.58989 | 0.00011
4 3.42010 | -0.00010
X,X, | -0.0001868 | 126311.159 | Y = | 355011 | -0.00011
X2 | 00064981 | 10100.338 Y 6 | 342998 | 0.00011
R=1.0000 $=0.0003

F =83026.2984 > F, (0.05) = 225.0000
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y = 4.2373437 - 0.1426790x, — 0.000072x;

—0.0001868x, X, + 0.0064981x>

2223 2224

-T600 3

-T400 A

-TEZ00 1

-Foon

680D

2223

y * ¥ X
-30.00011 250 500 26 25045 000

2221
2.2.2.3
3.59 TRJEE
F. 56 A -
352 o \:;H‘xb
FoAT 4 e
= 47 ] 2_ :
2.2.2.3
3
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2224

X, | X, | Y,

-30 | 6 | 3.64232 | 0.05232

20 | 8 |3.47900 | 0.1990

45 | 10 | 3.36164 | 0.18164

.T&600

.T400

TE20D

Foon

BE00

2221 2222

Y1

—

* * * ' X2
6.000 7.000 §.000 9.000 10000

2222
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